AGIH AOLSR ouT N GROSS  HDCP NET

2 B TE FH— 39| 41 800 9.0 71.0

Zigls MR Bl 37 44 81 10.0/ 71.0
i tHE &BR 43 41 84 10.0 74.0
A T BIE 42 4 83 9.0 74.0
oir INEF FiuE 40 37 117 2.0 1750
o/ FI —1&F 39 37 76, 1.0 75.0
i B2l Bzar 44’ 43 87 12.0 75.0
8L TR SR 373 76 1.0 75.0
O R A 3541 76 1.0 75.0
10 18JIl k8% 3845 83 8.0 75.0
11 ™% =E5t 4439 83 7.0 76.0
122 #3% HEC 4243 85, 9.0 76.0
1362 mAT FA 42 38 80 3.0 77.0
145 #R[R  ZE 7] 44 42 86 9.0 77.0
156 &0 = 45 43 88 11.0 77.0




AfH#H BYIX ouT IN GROSS  HDCP NET

= B BR IEE 48/ 40 | 88 19.0 69.0

EEE Al F4T 4538 | 83 13.0 70.0
3 =% BB 47 48 95 25.0 70.0
AGL BEKR = 4742 89 18.0 71.0
ofii HlF FEA 42 43 85 14.0 71.0
6fif R Ef 5155 106 35.0 71.0
i M@ F 49 46 95 23.0 72.0
8L TIIN JF 53 53 106 34.0 72.0
O HREE 47 40 87 14.0 73.0
1032 IS ﬁB?& 47 41 88 15.0 73.0
[RETARVINY " N 79 4 46 42 88 14.0 74.0
126 &0 &z 47 49 96 22.0 74.0
13 HE HIE 47 46 93 18.0 75.0
1440 /Nl 5] 48 48 96 20.0 76.0
156 #1# IE/S 44 47 91 15.0 76.0




BB LF1—R ouT N GROSS  HDCP NET

2 BF K [RIE 39 42 81 10.0 71.0

gl kAK BE 3943 82 9.0 73.0
3L KIE éé’a‘d 414 82 6.0 76.0
A FHB 5155 106 30.0 76.0
O iR %%‘K? 42 42 84 1.0 71.0
6L & XEATF 53 49 102 23.0 79.0
I U H %% 58 56 114 35.0 79.0
8fii =EB =1E 45 41 86 5.0 81.0
O NH =¥ 46 46 92 10.0 82.0
1052 ™4 FOfx 42 45 87 5.0 82.0
1M B BEH | 47 46 93 10.0 83.0
1260 =8 =|IRF 51 54 105 20.0 85.0
136 F¥ =REF 61 61 122 35.0 8/.0




